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QUESTION 1

DataStore objects are designed to store summarized transaction data. Determine the statement is True or False. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 2

Which of the following are the correct terminology about hierarchies? Choose the correct answers. 

A. An entity in a hierarchy is called a node 

B. Nodes that have no parents are called orphan nodes 

C. Nodes that have no children nodes are called leaf nodes or leaves 

D. A relationship between a node and its parent node is called a family tree 

E. A hierarchy with leaves on different levels is an unbalanced hierarchy 

Correct Answer: ACE 

 

QUESTION 3

Which of the following statements regarding Advanced DataStore Objects (ADSOs) are correct? 

A. The keys of an ADSO can be a mixture of lnfoObjects and fields. 

B. Non-cumulative key figures cannot be included in ADSOs. 

C. ADSOs can have up to 120 key fields. 

D. A direct update ADSO does not have an Inbound Table or a Change Log. 

E. ADSOs cannot be used as a source in a transformation for another ADSO. 

Correct Answer: ACD 

 

QUESTION 4

In developing a logical data model, SAP Best Practice is to build the model using a top-down, key figure approach or a
bottom--up DataSource approach. Determine Whether this statement is true or false. 

A. True 
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B. False 

Correct Answer: A 

 

QUESTION 5

The error stack can help you in which areas? Choose the correct answer(s). 

A. Identifying erroneous records. 

B. Automatically fixing bad records. 

C. Reducing your dependence on temporary storage. 

D. Improving load times. 

Correct Answer: A 
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